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[GRA%ER )

[=tod Yy |4 S14 AL |BE BEIM L
1 9|Heh & EHEE 13.952 10.5 24.452
2 10[BEF# Kih (B)=BEILY—ER 15.600 9.5 25.100
3 12[FA 2+ FTHREETEER) 16.120 9.0 25.120
4 1[FA BEEFE FTHREETEER) 15.904 10.0 25.904
5 19[#F £ RRER 7 Ab 15.144 12.0 27.144
6 3|HIH E&A (¥)OKE LY —E R 14.384 14.0 28.384
7 16|NE ZE (¥)OKE LY —E R 16.640 12.5 29.140
8 26| K%t S#% (BE)=REILY—EXR 17.888 11.5 29.388
9 29|FLl #hth (¥)OKE LY —E R 15.512 14.0 29.512
10 2B1EH ER (B)=8EILY—ER 20.032 175 37.532

[FEARE]

[t Yy |4 S14 AL |BE BEIM L
1 12| EA % LFHEETEE) 34.896 10.5 45.396
2 9|He & EREE 27.608 23.5 51.108
3 3|ATA B&A (¥)OKE LY —E R 29.560 22.0 51.560
4 1A EEFE LFHEETEE) 37.360 16.0 53.360
5 19|41 £ RRER 7 RE 35.752 18.0 53.752
6 10[BFH Kith (BA)=8EI/ILY—ER 33.456 23.5 56.956
7 26| K+ SfFm (BA)=8EI/ILY—ER 38.488 18.5 56.988
8 29|l #hth (BR)OKE JLH—E X 36.552 23.0 59.552
9 16|NE 2 (BR)OKE JLH—E X 41.632 18.0 59.632
10 25|EH TR (BE)=EILY—EXR 39.216 20.5 59.716
11 5|kl [EE (BA)=8EI/ILY—ER 39.656 235 63.156
12 21|AIA_ #Hth (3R)OKE LY —E R 32.784 34.5 67.284
13 14[M AR {£EER B\E)RrEE 32.864 34.5 67.364
14 23|58 Wﬁ’ﬁ- LTHEETXEH) 36.640 32.5 69.140
15 U S (A)EEEA TH—ER 38.248 32.0 70.248
16 4/NR W] FHREEITEER) 35.360 36.0 71.360
17 20|55t B FTHREEITEER) 42.752 29.0 71.752
18 27|H |X (BA)=8EI/ILY—ER 41.832 31.0 72.832
19 2|5 E A 7 AR 42.568 30.5 73.068
20 8lfEE — & (BR)OKE JLYH—E X 40.280 335 73.780
21 28(H58 Tk 1—XH—EX 34.176 41.0 75.176
22 13|F%Fc B A—XHY—EX 45.832 425 88.332
23 17(&%t EB2 (BFE=X 53.040 36.5 89.540
24 24(F+TH 1FE (BA)=8EILY—ER 42.920 495 92.420
25 6| Kix 1E1T 1—XH—EX 46.120 50.5 96.620
26 11{Hp ez BE)=EILY—ER 37.800 59.0 96.800
27 15|85k EA (B)=EILY—EX 54,744 57.0 111.744
28 18[5% = BIR—= 51.688 88.0 139.688
29 22| H Eft (BFE=X 72.009 97.0 169.009

[FEFE2EE]

JIE {32 vy |4 =14 AL |BE eI L
1 12(FH 2+ THEXETER) 16.944 6.5 23.444
2 19|41 £ RRER OF 16.280 9.5 25.780
3 3|ATHA B&A (BR)OKE LY —E X 14.880 12.5 27.380
4 10(EFH Kih (BE)=EILY—ER 17.640 11.0 28.640
5 1[EA EE LTHEEITEX®R) 19.472 10.0 29.472
6 16|NE 2 (BR)OKE LY —E X 22.160 75 29.660
7 26| K% 5% (BE)=EILY—ER 18.944 11.0 29.944
8 21|AIH #Hhth (BR)OKE JLYH—E X 15.776 14.5 30.276
9 9|HH & BREE 13.760 18.5 32.260
10 29|l #hth (BR)OKE JLYH—E X 18.312 14.0 32.312




11 5|BRE EE (BA)=8EILY—ER 19.328 13.5 32.828
12 25| B3 *9& (BE)=EILH—ER 20.152 13.0 33.152
13 7NE)l BE (BEHEEATH—EX 18.288 15.0 33.288
14 4/MNR B FTHEETEE) 18.016 16.0 34.016
15 27|[EH TA EBE)=RBEILY—ER 19.168 16.0 35.168
16 23| 5 BF FTHEETEE) 17.144 19.0 36.144
17 2157 E #|A 7 RE 20.680 16.5 37.180
18 8|lHEE — & ()OKEJILY—EX 21.704 17.5 39.204
19 14|mAA {ERER BE)IOREE 17.240 22.0 39.240
20 20|15t E FTHEETE®E) 18.808 22.0 40.808
21 6| Kix 1E1T 1—XAH—EXR 25.152 16.0 41.152
22 28|HBE H= 1—XHY—ER 17.512 24.0 41512
23 11{Hp Hz (B)=8EILY—ER 18.632 23.0 41.632
24 13[Fxt EHh 1—XH—E R 22.720 19.5 42.220
25 17[&% EE? (BFE=E 27.696 17.0 44.696
26 24|13 H _F[E (BA)=8EILY—ER 22.296 27.0 49.296
27 15[8iK EA (BA)=8EILY—ER 29.696 30.5 60.196
28 18l5% = (F)R—=* 29.288 455 74.788
29 22| H Bt (BFE=E 32.528 51.0 83.528

[FEF1EE]

JIIE {32 £yl |4Hl S14 AL |BE BEIM L
1 9|He & BRHEE 13.848 5.0 18.848
2 12| EA &+ LTHEETITEGER) 17.952 4.0 21.952
3 1|EA EE LTHEETITEER) 17.888 6.0 23.888
4 3|HIE E&A& (BR)OKE JLH—E X 14.680 95 24.180
5 2B|1EH FER (BA)=8EIILY—ER 19.064 75 26.564
6 26| K+ SF (BA)=8EIILY—ER 19.544 75 27.044
7 29|d Il $Rth (BR)OKE /LY —E X 18.240 9.0 27.240
8 19|41 £ FRRER T AR 19.472 8.5 27.972
9 14[M A {£EER (BE)MrEE 15.624 12.5 28.124
10 10[BF# Kih (BH)=8EIILY—ER 15.816 12.5 28.316
11 16|NE Z (BR)OKE /LY —E X 19.472 10.5 29.972
12 5| kIR BéF.E\ (B)=EILY—EX 20.328 10.0 30.328
13 20[&t E= FTHEEIEX®R) 23.944 7.0 30.944
14 23|58 BF LTHEETITEGER) 19.496 13.5 32.996
15 28|#BE = 1—XHY—ER 16.664 17.0 33.664
16 8|lfE — & (BR)OKE JLH—E X 18.576 16.0 34.576
17 2% E #E)\ 7 RE 21.888 14.0 35.888
18 &) BE ()AL TH—EXR 19.960 17.0 36.960
19 21|ATA #Hhth (B)OKEJLH—EX 17.008 20.0 37.008
20 4[/hNR AR THEETE®R) 17.344 20.0 37.344
21 27| B TA B)=REILY—EXR 22.664 15.0 37.664
22 24[FTH 1FE B)=REILY—EX 20.624 22.5 43124
23 17[&% BB (BFEE 25.344 19.5 44.844
24 13[Fx Bt 1—XHY—ER 23.112 23.0 46.112
25 15[88 K EA (B)=8EI/ILY—ER 25.048 26.5 51.548
26 11[AH Rz B)=REILY—EX 19.168 36.0 55.168
27 6| KIE E1T 1—XHY—ER 20.968 34.5 55.468
28 18|&% = (BIRN—=2 22.400 425 64.900
29 22| H Eft (BR)FZE= 39.481 46.0 85.481




